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Parallel and Perpendzcular Slopes

What is the slope of the line:

1. Parallelto y =3x—67 2. Perpendicularto y =3x—67
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3. Parallelto y =—-2x+17? 4. Perpendicularto y = —-2x+17
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5. Parallel to y = —Ex— 77 6. Perpendicular to y = —gx -7?
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7. Parallel to y = Zx +37? 8. Perpendicularto y = Zx+ 3?
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9. Parallel to 2% +3y = 52 ? 10. Perpendicularto 2x+3y =127
-3 A - 3
| J="Fx | m ==
3 = 3
Y —
SxH{~—
11. Parallel to —;44+ 5y=15? 12. Perpendicular to 2x+5y=15?
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13. What is the slope of a line perpendicular to the line whose equation is ¥ = —5 x=5?
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14. What is the slope of a line perpendicular to the line whose equation is y = 3x+4?
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15. What is the slope of a line parallel to the line whose equation is 2y = —fix +&? —
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16. What is the slope of a line that is parallel to the line whose equation is 37+ 4y = 12? i -3
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17. What is the slope of a line perpendicular to the line whose equation is 5x + 3y = 8?2
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18. What is the equation of a line that is parallel to the line whose equation is y =3x—17?

1)y=—%x+2 3) y=—3x+6 IY)”':?)

2)y=%x—7 . ﬁy=§x+4
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19. What is the equation of a line that is perpendicular to the line whose equation is y = l x+4?
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1)y=—%x+1 3) y=2x+2 r"h__j_:—gs
2)y=%x+6 @y=-2x-3
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20. What is the equation of a line that is pe’rEIMar to the line whose equation is 2¥'+3y =67

- =¥
D y=-2x-2 3) y=—Zx47 2
2 3 Bj :‘Qx#—(i
3 2 ‘ — =
@y=—x—5 4) y==x+1 =3 =3
2 ) 3 U — = ,
Sane shee J="Z x+)
21. What is the equation of a line that is parallel to the line whose equation 1sq4x 3y =q9? ” 2
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22. What is the equation of a line that is parallel to the line whose equation is y ={x+27
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23. Which equation represents a line perpendlcular to the line whose equation is 2xA4 3y = 127 :j = X ‘P‘/
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24. Which equation represents a line parallel to the line whose equation is 2y —LZA = 107
1) Sy-2x=25 - 4y—10x =12 X +JY ” T
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25. The lines 4x+2y =8and y+2x =4 are

1) parallel &the same line
2) perpendicular 4) neither parallel nor perpendicular
ldy =% A+ =4
~H¥ Uy D)X ~d
Y=t J==dxiy
27 = .
9 ==) )d“-‘
26. The lines -3y =x+9and y+2 = —%x are
@paral]el 3) the same line
2) perpendicular 4) neither parallel nor perpendicular
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27. The lines 2x+4y =12and 4x—2y =12 are

1) parallel 3) the same line
@ perpendicular 4) neither parallel nor perpendicular
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28. The lines 3y +1 =tx+4 and 2y+1=x—9 are
1) parallel 3) the same line
2) perpendicular <4 neither parallel nor perpendicular
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29. The lines represented by the equations y + E x=4and 3x+ éy = 12 are

1) the same line g "’é '\,l
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